Centro Dep.

Material

TxtBreveMaterial

Prateleira UMB

0012 | OBSO | 4004825 COIFA GEREMIA 3171001014 04E PC
0012 | OBSO| 4011024 JUNTA EIXO KSB 2181211 04E JG
0012 | OBSO| 6011291 PO ABRASIVO OXI AL GR100 CZ 25KG 04E KG
0012 | OBSO| 6015197 TUBO BENGALA COMPR AR (80V) 3/4X500MM 04E PC
0012 | OBSO | 4006493 CORRENTE TRI BOSCH 2200200042 04E PC
0012 | OBSO| 4008892 FACA ROT LISA SACHE MZ1000 S.CAETANO 04E PC
0012 | OBSO | 4009158 FIXADOR MATISA 1751 04E PC
0012 | OBSO| 4009160 FIXADOR GALV 65262 04E PC
0012 | OBSO | 4009185 FLANGE BOSCH 2200300009 04E PC
0012 | OBSO| 4009920 GAXETA 2ME3138 TELESI 04E PC
0012 | OBSO | 4011769 LOOPER DOIS FIOS MATISA 1138 04E PC
0012 | OBSO| 4012251 MANCAL BOSCH 3010500002 04E PC
0012 | OBSO | 4013568 PARAFUSO CILINDR VOLANTE MATISA 313 04E PC
0012 | OBSO| 4013900 PECA MATISA 1783 04E PC
0012 | OBSO | 4018842 SANFONA BILFLEX 221 INDUMAK 31FLCT0013 04E PC
0012 | OBSO| 4019699 SUPORTE TAMPA MOVEL 416 04E PC
0012 | OBSO | 4022571 VALVULA FECH MAN ALIM/ESC AR 1/2" 04E PC
0012 | OBSO| 4024603 MOLA VALV PRES FAZANARO 001670 04E PC
0012 | OBSO | 4028440 EMENDA BOSCH 6340100800 04E PC
0012 | OBSO| 4064166 PORCA FIXACAO KM18 04E PC
0012 | OBSO | 4066300 RAMPA ACES ENFAR TECNIL ARV EF50300005 04E PC
0012 | OBSO| 4072930 PORCA CIL 1" SH INDUMAK 100078 04E PC
0012 | OBSO | 4076294 ZZCORREIA SAMPLA L10S 2T BR 1500X5,0MM 04E PC
0012 | OBSO| 6000470 ALVAIADE 04E KG
0012 | OBSO | 6000613 ZZANEL ELAST RET EX ACO 90MM DIN 471 04E PC
0012 | OBSO| 6000621 ANEL ELAST RET FR ACO 26 MM DIN 472 04E PC
0012 | OBSO | 6000624 ANEL ELAST RET FR ACO 40MM DIN 472 04E PC
0012 | OBSO| 6000627 ANEL ELAST RET FR ACO 47MM DIN 472 04E PC
0012 | OBSO | 6001377 ARRUELA AXIAL B38298 04E PC
0012 | OBSO | 6004056 CARTUCHO FOTORRECEPTOR 101R70024 G 04E PC
0012 | OBSO | 6004193 CARTUCHO TONER PR XEROX 106R0395 G 04E PC
0012 | OBSO| 6004197 CARTUCHO TONER PR XEROX 13R00635 G 04E PC
0012 | OBSO | 6004963 CONTRAPINO A1008 ZINCADO 3/32 X 7/8" 04E PC
0012 | OBSO| 6005009 CONTRA PORCA POLIAMIDA PG11 MURR 04E PC
0012 | OBSO | 6005886 ELETRODO SOLDA AR COMPR 23K 01208 04E PC
0012 | OBSO| 6008321 MOLA BRACO CEMME 2200500007 04E PC
0012 | OBSO | 6008330 MOLA PRATO G A1090 41X80X5MM 04E PC
0012 | OBSO| 6008358 MOP LIMP S/ CABO COD. C512 CANZORD 04E PC
0012 | OBSO | 6008702 PARAFUSO CH S/ENC AI304 3/8X1.1/2" 04E PC
0012 | OBSO| 6008796 PARAFUSO CIL ALL CL5.8 10X16MM 04E PC
0012 | OBSO | 6008800 PARAFUSO CIL ALL CL5.8 22X250MM 04E PC
0012 | OBSO| 6009275 PARAFUSO CH FEN A1020 1/2X1.1/4" 04E PC
0012 | OBSO | 6009339 PARAFUSO CH FEN A1020 3/8X4" 04E PC
0012 | OBSO | 6009345 PARAFUSO RED FEN A1020 7/8X6" 04E PC
0012 | OBSO | 6009370 PARAFUSO CH FEN AI304 1/8X5/8" 04E PC
0012 | OBSO| 6009372 PARAFUSO AT CH FEN LT 4,8XA0MM 04E PC
0012 | OBSO | 6009379 PARAFUSO RED FEN LT 5/16X1" 04E PC
0012 | OBSO | 6009433 PARAFUSO AT CH FEN A1020 4,8X65MM 04E PC




0012 | OBSO | 6009522 PARAFUSO FIX LANCADEIRA TRAS 717A 04E PC
0012 | OBSO| 6009652 PARAFUSO AT CH FEN A1020 2,5X12MM 04E PC
0012 | OBSO | 6009669 PARAFUSO PRENDER AGULHA 11155 04E PC
0012 | OBSO| 6009670 PARAFUSO PRES BIELA VIRABR PONTO 11111 04E PC
0012 | OBSO | 6009683 PARAFUSO RED FEN A1020 3/4X3.1/2" 04E PC
0012 | OBSO | 6009684 PARAFUSO RED FEN A1020 3/4X4" 04E PC
0012 | OBSO | 6009685 PARAFUSO RED FEN GR5 3/4X5" 04E PC
0012 | OBSO | 6009686 PARAFUSO RED FEN A1020 3/4X5.1/2" 04E PC
0012 | OBSO | 6009687 PARAFUSO RED FEN A1020 3/4X6" 04E PC
0012 | OBSO| 6009743 PARAFUSO SXT GR2 3/4X4" UNF 04E PC
0012 | OBSO | 6009760 ZZPARAFUSO SXT GR2 1/2X1" UNC 04E PC
0012 | OBSO| 6010032 ZZPARAFUSO SXT GR2 1/2X8" BSW 04E PC
0012 | OBSO | 6010209 PARAFUSO SXT GR2 5/16X6" UNC 04E PC
0012 | OBSO| 6011049 PINO ART ROLEFLEX 2NESOA 04E PC
0012 | OBSO| 6011301 PO SOLDA EXOT MET 04E KG
0012 | OBSO| 6011307 PO SOLDA EXOT MET 04E KG
0012 | OBSO | 6011354 PORCA FIXACAO KM4 04E PC
0012 | OBSO| 6011396 PORCA EIXO TRANSP 1181 04E PC
0012 | OBSO | 6011425 ZZPORCA FIXACAO KM 13 04E PC
0012 | OBSO| 6011537 PORCA SXT GR2 3" UNC 04E PC
0012 | OBSO | 6012758 RETENTOR ABA 390X215X40MM 42X84" COURO 04E PC
0012 | OBSO| 6013694 ROLDANA RECART MAQ MIG 23R00394 04E PC
0012 | OBSO | 6018212 ARRUELA PRESSAO NORM A1070 11MM POL 04E PC
0012 | OBSO| 6028657 ZZPARAFUSO SXT GR2 1/4X3/4" UNC 04E PC
0012 | OBSO | 6030033 PARAFUSO VALVULA BORB Al304 24" 04E PC
0012 | OBSO| 6032237 PARAFUSO SXT GR5 1.3/4X5" UNC 04E PC
0012 | OBSO | 6040113 LUVA BORRACHA PT/AM LISA 9 04E PC
0012 | OBSO| 6040122 LUVA BORRACHA PT/AM LISA 8 04E PC
0012 | OBSO | 6040123 LUVA BORRACHA PT/AM LISA 11 04E PC
0012 | OBSO| 6042806 ARRUELA VEDAC SIL 70SHD 70X82X6 MM 04E PC
0012 | OBSO | 6042807 ARRUELA VEDAC SIL 70SHD 24X30X5MM 04E PC
0012 | OBSO| 6042808 ARRUELA VEDAC SIL 70SHD 37X46X5MM 04E PC
0012 | OBSO | 8035325 PORCA FIX ESF BIELA SUP 1773 04E PC
















Utilizagao
Livre

2,000
1,000
23,000
1,000
2,000
4,000
2,000
87,000
4,000
28,000
7,000
2,000
7,000
3,000
2,000
10,000
2,000
10,000
11,000
2,000
8,000
2,000
3,000

11,000

2,000

1,000

15,000

52,000

69,000

5,000

4,000

3,000

101,000

5,000

5,000

6,000

74,000

9,000

630,000

50,000

5,000

50,000

99,000

14,000

668,000

94,000

77,000

27,000




28,000

32,000

30,000

2,000

103,000

164,000

395,000

54,000

110,000

16,000

368,000

16,000

4,000

30,000

1,500

7,500

1,000

3,000

20,000

10,000

17,000

10,000

2,000

20,000

22,000

107,000

9,000

8,000

10,000

10,000

10,000

10,000

10,000
















